

Relation between neutrophil-to-lymphocyte ratio with epidural analgesia timing and thoracotomy pain

Relación entre la proporción neutrófilos/linfocitos con el momento de la analgesia epidural y el dolor de la toracotomía

Taha Semerci, Ersagun Tugcugil* and Ahmet Besir

Department of Anesthesiology and Critical Care, Karadeniz Technical University, Faculty of Medicine, Trabzon, Turkey

Abstract

Objective: This study investigated the relationship of the pre-operative neutrophil/lymphocyte ratio (NLR) to the timing of epidural analgesia administration and post-operative acute and chronic pain in thoracotomy. **Materials and methods:** The study was conducted on 60 patients, with $NLR \geq 2$ (Group A) and $NLR < 2$ (Group B). Each group was divided into subgroups pre-emptive analgesia (Group P) and control group (Group C). Epidural analgesic solution was administered as a bolus before the surgical incision in Group P and at the end of the operation in Group C. NRS was questioned postoperatively at the 2nd, 4th, 8th, 12th, 24th h, 1st, and 3rd months and also additional analgesic needs were recorded. **Results:** In Group A, the pain scores of the patients who received pre-emptive epidural analgesia were lower at the post-operative 2nd, 4th, and 8th h and analgesic consumption was less in the post-operative first 24 h. **Conclusion:** It was observed that pre-emptive epidural analgesia reduced pain levels and additional analgesic consumption in the acute post-operative period in patients with pre-operative $NLR \geq 2$.

Keywords: Pre-emptive epidural analgesia. Neutrophil/lymphocyte ratio. Post-operative pain. Chronic pain.

Resumen

Objetivo: Este estudio investigó la relación de la relación neutrófilos/linfocitos (NLR) preoperatoria con el momento de la administración de la analgesia epidural y el dolor agudo y crónico posoperatorio en la toracotomía. **Materiales y métodos:** El estudio se realizó en 60 pacientes, como $NLR \geq 2$ (Grupo A) y $NLR < 2$ (Grupo B). Cada grupo se dividió en subgrupos de analgesia preventiva (Grupo P) y grupo control (Grupo C). La solución analgésica epidural se administró en bolo antes de la incisión quirúrgica en el Grupo P y al final de la operación en el Grupo C. La NRS se cuestionó posoperatoriamente a las 2, 4, 8, 12, 24 horas, 1 y 3 meses también adicionales Se registraron las necesidades analgésicas. **Resultados:** En el Grupo A, los puntajes de dolor de los pacientes que recibieron analgesia epidural preventiva fueron menores a las 2, 4 y 8 horas postoperatorias y el consumo de analgésicos fue menor en las primeras 24 horas postoperatorias. **Conclusión:** Se observó que la analgesia epidural preventiva redujo los niveles de dolor y el consumo adicional de analgésicos en el postoperatorio agudo en pacientes con NLR preoperatorio ≥ 2 .

Palabras clave: Analgesia epidural preventiva. Relación neutrófilos/linfocitos. Dolor posoperatorio. Dolor crónico.

*Correspondence:

Ersagun Tugcugil

E-mail: erstug@gmail.com

2444-0507/© 2023 Academia Mexicana de Cirugía. Published by Permanyer. This is an open access article under the terms of the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

Date of reception: 23-03-2023

Date of acceptance: 18-05-2023

DOI: 10.24875/CIRUE.M23000609

Cir Cir (Eng). 2024;92(1):33-38

Contents available at PubMed

www.cirugiaycirujanos.com

Introduction

Post-operative pain is an acute type of pain that starts with surgical trauma and ends with wound healing. Prevention of post-operative pain is very important in terms of patient satisfaction and prevention of possible complications¹.

Thoracotomy is one of the surgical procedures in which post-operative pain is most common. Inadequate pain control after thoracic surgery, insufficient respiratory effort, inability to cough, and the development of atelectasis may cause thromboembolism due to decreased mobilization², cardiovascular side effects with increased catecholamine release, and lung infections such as pneumonia and bronchitis³.

Inflammation triggered by surgery is one of the most important mechanisms of post-operative pain⁴. Neutrophil/lymphocyte ratio (NLR), a marker closely related to systemic inflammation, has been associated with post-operative edema and ecchymosis in rhinoplasty⁵ and with post-operative wound infection in spinal surgery⁶. In addition, NLR has been used as a prognostic factor in various malignancies such as rectum⁷, lung⁸, and breast⁹ cancers and as a diagnosis and response criterion in various diseases such as diabetes mellitus¹⁰ and acute appendicitis¹¹.

Although NLR is used as a marker of inflammation in various diseases in the literature, studies investigating its effects on post-operative pain, which is closely related to acute inflammation, and its effectiveness in the timing of analgesia management are limited. The primary aim of this study is to evaluate the relationship of NLR, an inflammation marker in thoracic surgery, with the timing of epidural analgesia and, second, to investigate the relationship of NLR level with post-operative acute and chronic pain.

Materials and methods

A total of 60 patients between the ages of 18 and 75 years and in the ASA I-III risk group who underwent elective thoracotomy between March 2020 and June 2021 were included in the study. Patients with a body mass index (BMI) > 30 kg/m², those with local anesthetic or opioid allergy, those who continue to use opioids, those with active infections, those with neurological disease, abnormal coagulation tests, patients with renal or hepatic insufficiency, patients who used any medication for the diagnosis of chronic pain, could not cooperate, patients who had a previous

thoracotomy, and patients who were unable to compare physical and verbal performance were excluded from the study.

One day before the operation, pre-anesthetic examinations of all patients were performed. Patients with suitable conditions for the study were informed about the study, and their written consent was received. The numeric rating scale (NRS) score was explained in detail to the patients to evaluate their acute and chronic post-operative pain levels. NLR, age, gender, weight, and ASA risk scores of the patients were recorded before the operation.

Electrocardiography (ECG), peripheral oxygen saturation (SpO₂), and non-invasive blood pressure monitoring were performed on the patients who were taken to the operating table. Thoracic epidural catheter T₄₋₅ was inserted at the level of the intervertebral space. After IV administration of propofol (2-3 mg/kg) and fentanyl (2 µg/kg), muscle relaxation was achieved with IV rocuronium (0.6 mg/kg). All patients were intubated with an appropriately sized left double-lumen tube for one-lung ventilation. After the tube position was confirmed with a fiberoptic bronchoscope, mechanical ventilation was started. After the patients were placed in the lateral decubitus position for surgery, the tube position was confirmed again with a fiberoptic bronchoscope. Anesthesia was maintained with 50% O₂/air and 2% sevoflurane in both groups. Muscle relaxant maintenance was provided with an additional dose of 0.25 mg/kg rocuronium according to the neuromuscular monitoring response.

Patients were divided into two groups as NLR level above 2 (Group A) and NLR level below 2 (Group B). After the epidural catheter was inserted, an equal number of subgroups were differentiated into groups A and B, and a bolus of 0.25% bupivacaine 0.1 ml/kg was administered through the epidural catheter 20 min before the surgical incision in the group to be administered pre-emptive analgesia (Group P), and an infusion of 0.1% bupivacaine was started at a rate of 0.1 ml/kg/h for 48 h. In the control group (Group C), a bolus of 0.25% bupivacaine 0.1 ml/kg was administered through the epidural catheter 20 min before awakening, and an infusion of 0.1% bupivacaine at a rate of 0.1 ml/kg/h for 48 h was started. In Group C, intraoperative analgesia was provided with 0.1-0.25 mcg/kg/min remifentanyl infusion. Intramuscular pethidine (Aldolan-Gerol®, LibaLab.) was given at a dose of 1 mg/kg to all patients with a post-operative NRS value above 3. If the pain did not decrease, intramuscular diclofenac 75 mg (Diclomec®, Abdi İbrahim)

was administered. Application time and doses were recorded. NRS and additional analgesia needs were recorded for all patients at the post-operative 2nd, 4th, 8th, 12th, and 24th h. In the 1st and 3rd months postoperatively, the patients were contacted by phone, and their NRS scores were recorded.

Statistics

SPSS for Windows 17.0 program was used for statistical analysis. Descriptive variables are given as median (minimum-maximum), mean $\pm$ SD, and, if needed, as % (frequency) values. The conformity of the data to the normal distribution was evaluated with the Shapiro–Wilk test. During the data analysis, cases with Chi-square and Mann–Whitney U test $p < 0.05$ were considered statistically significant. G Power 3.1.9.4 (HHU, Germany) program was used to calculate the sample size. Based on the study of Öner et al.¹², alpha error = 0.05, beta error = 0.20, and effect size 0.8, it was concluded that a total of 52 patients, at least 26 for each group, would be sufficient. However, considering possible data loss, a total of 60 patients were included in the study.

Results

There was no significant difference between the groups in terms of demographic data ($p > 0.05$) (Table 1). There was no significant difference in pain scores and analgesic consumption between the patient groups with and without pre-emptive epidural analgesia in the pre-operative NLR < 2 group (Table 2). However, in the group with pre-operative NLR ≥ 2 , the pain scores of the patients who received pre-emptive epidural analgesia were lower at the post-operative 2nd, 4th, and 8th h (respectively, $p < 0.001$, $p = 0.005$, $p = 0.006$) (Table 3) compared to the patients who did not receive pre-emptive epidural analgesia. Analgesic consumption was less in the post-operative first 24 h ($p < 0.05$) (Table 3). It has been observed that pre-emptive epidural analgesia has no effect on the chronicity of pain in patients with both NLR ≥ 2 and NLR < 2 (Tables 2 and 3).

Discussion

Thoracotomy is considered the most painful of all surgical procedures and must be treated with effective analgesia. In addition to the surgical incision, damage to the ribs and intercostal nerves, cutting of the major

Table 1. Demographic data (min-max, mean $\pm$ SD, n [%])

	Group A (NLR ≥ 2) (n = 32)	Group B (NLR < 2) (n = 28)	p
Age	66 41-75	62 23-74	0.213
Gender (M/F)	24 (75)/8 (25)	25 (89)/3 (11)	0.472
BMI	24.8 21.9-29.1	24.7 20.3-29.4	0.779
ASA (I, II, III)	5 (16)/16 (50)/9 (34)	6 (22)/15 (53)/7 (25)	0.068
NLR	3.45 $\pm$ 2.84	1.45 $\pm$ 0.445	< 0.0001

p values in bolds are statistically significant at $p < 0.05$. NLR: neutrophil/lymphocyte ratio.

muscles, and placement of the chest tube play a role in the formation of this pain. It has been reported that eliminating this pain is very important in increasing patient comfort and contributes to both rapid recoveries of respiratory functions and reduction of complications^{13,14}.

Some patients may be at greater risk for post-operative pain. Determining this risk or patient group will help establish the analgesia and anesthesia strategy. Identifying patients with this risk group, particularly in cases that may cause severe pain, such as post-thoracotomy pain, may help us prevent post-operative pain-related complications. Patients with high baseline inflammation, such as those with high NLR levels, can be included in this risk group for post-operative pain.

With this current study, we accepted our hypothesis that if we detect the pre-operative NLR level, a risk factor for post-thoracotomy pain, in advance, we can reduce the severity and chronicity of acute post-operative pain by making the timing of epidural analgesia correct.

In our study, we found that the NRS levels at the post-operative 2nd, 4th, and 8th h and the amount of additional analgesic consumed in the first 24 h post-operatively in the control group in pre-operative NLR ≥ 2 patients were higher than the group in which pre-emptive thoracic epidural analgesia was administered. However, there was no difference between the subgroups in terms of pain scores and analgesic consumption in patients with pre-operative NLR < 2. This has shown us that patients with pre-operative high NLR may benefit from pre-emptive thoracic epidural analgesia. However, we observed that pre-emptive thoracic epidural analgesia had no effect on the chronicity of post-thoracotomy pain in both NLR ≥ 2 and NLR < 2 patient groups.

Table 2. Comparison of the effects of epidural analgesia application times on post-operative NRS and analgesic consumption in patients with pre-operative NLR < 2

Pre-operative NLR < 2 (n: 28)	Group P (n: 14)		Group C (n: 14)		p
	Median	Min-Max	Median	Min-Max	
Post-operative 2 nd h NRS	2	2-4	3	2-4	0.282
Post-operative 4 th h NRS	2	1-3	1.5	1-3	0.953
Post-operative 8 th h NRS	2	0-2	2	1-3	0.805
Post-operative 12 th h NRS	1	0-2	1	0-2	0.700
Post-operative 24 th h NRS	0	0-1	0	0-2	0.923
Post-operative 1 st -month NRS	0	0-3	1	0-5	0.303
Post-operative 3 rd -month NRS	0	0-3	1	0-4	0.361
Post-operative first 24 h Additional analgesic consumption					
Meperidine (mg)	40	0-50	50	30-60	0.123
Diclofenac (mg)	0	0-75	37.5	0-150	0.711

NLR: neutrophil/lymphocyte ratio.

Table 3. Comparison of the effects of epidural analgesia application times on post-operative NRS and analgesic consumption in patients with pre-operative NLR ≥ 2

Pre-operative NLR ≥ 2 (n: 32)	Group P (n: 16)		Group C (n: 16)		p
	Median	Min-Max	Median	Min-Max	
Post-operative 2 nd h NRS	3	1-5	5	3-7	< 0.001
Post-operative 4 th h NRS	3	0-5	4	1-6	0.005
Post-operative 8 th h NRS	1	0-3	3	1-5	0.006
Post-operative 12 th h NRS	1	0-3	1	0-3	0.945
Post-operative 24 th h NRS	0	0-3	1	0-2	0.716
Post-operative 1 st -month NRS	1	0-5	1	0-4	0.390
Post-operative 3 rd -month NRS	0	0-3	0	0-5	0.737
Post-operative first 24 h Additional analgesic consumption					
Meperidine (mg)	40	0-60	85	30-100	< 0.001
Diclofenac (mg)	75	0-75	75	0-225	0.014

p values in bold are statistically significant at p < 0.05. NLR: neutrophil/lymphocyte ratio.

It has been shown that patients with high NLR levels have pre-operative widespread systemic inflammation and may experience more pain due to the altered inflammatory balance⁸. Many studies in the literature show the relationship between pre-operative NLR level and post-operative pain. It has been shown that post-operative analgesic need and pain scores are higher in patients with a pre-operative NLR level above two after orthognathic surgery¹⁵, arthroscopic shoulder surgery¹⁶, and thoracotomy¹⁷. In our study,

we determined the threshold value for NLR as 2 while forming our groups in accordance with the literature. We found that pre-emptive analgesia reduced the amount of post-operative analgesic and decreased pain scores in patient groups with NLR levels above 2.

In another study on thoracotomy surgery, it has been suggested that epidural analgesia can be chosen in patients with high NLR¹⁸. In this study, we chose epidural analgesia as the method of analgesia; however, we have demonstrated that patients with high

basal inflammation levels, such as high NLR levels, are at greater risk and that pre-emptive epidural analgesia will make a difference in preventing post-operative pain in this risk group.

Pre-emptive analgesia is defined as the prevention of central sensitization by applying painkillers or methods before the causes of pain occur and, thus, the cessation of pain before it starts¹⁹. In studies investigating the effects of pre-emptive thoracic epidural analgesia on acute post-thoracotomy pain, lower post-operative pain scores and analgesic consumption were found in the pre-emptive epidural analgesia method^{20,21}. However, none of these studies evaluated pre-operative NLR levels. In the study of Neustein et al., it was shown that the pain levels in the first 6 h were statistically lower in patients who underwent pre-emptive epidural analgesia in thoracic surgery. They did not detect a significant difference in pain scores after 6 h²². In our study, NRS scores in the first 8 h were statistically lower in patients who underwent pre-emptive analgesia, in line with the literature. However, we observed that this change was only in the patient group with NLR levels above 2. There was no significant difference in NRS scores at other hours, and more analgesic consumption was observed in this patient group.

Unlike our study, the study investigating the relationship between chronicity of post-operative pain and NLR in the literature was conducted in lumbar disc surgery. They examined VAS levels at 6 months post-operatively to assess pain. It was found that the pre-operative NLR level showed a positive correlation with the pain at the post-operative 6th month²³. In our study, we evaluated the NRS levels at the 1st and 3rd months to evaluate the relationship between the pre-operative NLR level and chronic post-thoracotomy pain; however, we could not find a relationship between the pre-operative NLR level and the NRS values at the 1st and 3rd months. We thought that this difference was due to the different duration of evaluation of chronicity and the fact that pain evaluation is a subjective method.

There are some limitations in our study. The most important limitation is that there are factors that affect the inflammatory response to surgery other than pain. Since our study was a single-center study, the results are limited to a certain region. Therefore, multicenter studies with larger patient groups are needed. Although there are many methods for measuring post-operative pain since pain is a subjective symptom, our study is also limited by the lack of a precise and objective method for measuring pain.

As a result, in our study, we concluded that the pre-emptive epidural analgesia method has a high inflammatory activity, and the pre-operative NLR level of patients above 2 is suppressed with the pre-emptive analgesia method, and their pain is better controlled in the post-operative acute period. We observed that the post-operative pain level and analgesic consumption of patients with low inflammatory activity and a pre-operative NLR level below 2 did not change with the application of pre-emptive analgesia. Thus, we provided sufficient analgesia by minimizing the unnecessary use of local anesthetic and the dose of local anesthetic to reduce the side effects in pain management. We believe that the NLR level, one of the parameters with pre-operative inflammatory activity in thoracotomy surgeries, may guide our choice of pre-emptive epidural analgesia.

Funding

The authors declare that they have not received funding.

Conflicts of interest

The authors declare no conflicts of interest.

Ethical disclosures

Protection of human and animal subjects. The authors declare that the procedures followed were in accordance with the regulations of the relevant clinical research ethics committee and with those of the Code of Ethics of the World Medical Association (Declaration of Helsinki).

Confidentiality of data. The authors declare that they have followed the protocols of their work center on the publication of patient data.

Right to privacy and informed consent. The authors have obtained the written informed consent of the patients or subjects mentioned in the article. The corresponding author is in possession of this document.

References

1. Karanikolas M, Swarm RA. Current trends in perioperative pain management. *Anesthesiol Clin North Am.* 2000;18:575-99.
2. Kavanagh BP, Katz J, Sandler AN. Pain control after thoracic surgery. A review of current techniques. *Anesthesiology.* 1994;81:737-59.
3. Wheatley GH 3rd, Rosenbaum DH, Paul MC, Dine AP, Wait MA, Meyer DM, et al. Improved pain management outcomes with continuous infusion of a local anesthetic after thoracotomy. *J Thorac Cardiovasc Surg.* 2005;130:464-8.
4. Lin CR, Amaya F, Barrett L, Wang H, Takada J, Samad TA, et al. Prostaglandin E2 receptor EP4 contributes to inflammatory pain hypersensitivity. *J Pharmacol Exp Ther.* 2006;319:1096-103.
5. Beşir A, Tuğcugil E, Akdoğan A, Livaoglu M. Neutrophil/lymphocyte ratio as a predictor of severe postoperative edema and ecchymosis in open rhinoplasty surgery. *Cukurova Med J.* 2022;47:1568-77.

6. Takahashi J, Shono Y, Hirabayashi H, Kamimura M, Nakagawa H, Ebara S, et al. Usefulness of white blood cell differential for early diagnosis of surgical wound infection following spinal instrumentation surgery. *Spine (Phila Pa 1976)*. 2006;31:1020-5.
7. Hamid HK, Emile SH, Davis GN. Prognostic significance of lymphocyte-to-monocyte and platelet-to-lymphocyte ratio in rectal cancer: a systematic review, meta-analysis, and meta-regression. *Dis Colon Rectum*. 2022;65:178-87.
8. Cheng H, Bhushan S, Li N, Xiao Z, Gao K. Preoperative neutrophil-to-lymphocyte ratio and platelet-to-lymphocyte ratio are correlated with tumor-node-metastasis stages in patients with non-small cell lung cancer. *J Cancer Res Ther*. 2022;18:1666-73.
9. Demir H, Demirci A, Eren SK, Beypinar I, Davarcı SE, Baykara M. A new prognostic index in young breast cancer patients. *J Coll Physicians Surg Pak*. 2022;32:86-91.
10. Guo X, Zhang S, Zhang Q, Liu L, Wu H, Du H, et al. Neutrophil: lymphocyte ratio is positively related to type 2 diabetes in a large-scale adult population: a Tianjin Chronic Low-Grade Systemic Inflammation and Health cohort study. *Eur J Endocrinol*. 2015;173:217-25.
11. Kelly ME, Khan A, Riaz M, Bolger JC, Bennani F, Khan W, et al. The utility of neutrophil-to-lymphocyte ratio as a severity predictor of acute appendicitis, length of hospital stay and postoperative complication rates. *Dig Surg*. 2015;32:459-63.
12. Öner K, Okutan AE, Ayas MS, Paksoy AE, Polat F. Predicting postoperative pain with neutrophil/lymphocyte ratio after arthroscopic rotator cuff repair. *Asia Pac J Sports Med Arthrosc Rehabil Technol*. 2020;20:24-7.
13. Savage C, McQuitty C, Wang D, Zwischenberger JB. Post-thoracotomy pain management. *Chest Surg Clin N Am*. 2002;12:251-63.
14. Sentürk M, Özcan PE, Talu GK, Kiyan E, Camci E, Ozyalçın S, et al. The effects of three different analgesia techniques on long-term postthoracotomy pain. *Anesth Analg*. 2002;94:11-5.
15. Turgut HC, Alkan M, Ataç MS, Altundağ SK, Bozkaya S, Şimşek B, et al. Neutrophil lymphocyte ratio predicts postoperative pain after orthognathic surgery. *Niger J Clin Pract*. 2017;20(10):1242-5.
16. Şıvgın V, Dikmen B, Orhan Ö, Kanatlı U, Arslan M, et al. Omuz artroskopisi uygulanan hastalarda nötrofil/lenfosit oranının postoperatif ağrı üzerine etkileri. *Turk Klinik J Anest Reanim*. 2017;3:95-9.
17. Bugada D, Lavand'homme P, Ambrosoli AL, Cappelleri G, Saccani Jotti GM, Meschi T, et al. Effect of preoperative inflammatory status and comorbidities on pain resolution and persistent postsurgical pain after inguinal hernia repair. *Mediat Inflamm*. 2016;2016: 5830347.
18. Alkan M, Erkent FD, Celik A, Gokce A, Arslan M, Unal Y. Effects of thoracic epidural or intravenous analgesia on the neutrophil-to-lymphocyte ratio in thoracotomy cases. *Niger J Clin Pract*. 2018;21: 1337-40.
19. Kissin I. Preemptive analgesia. *Anesthesiology*. 2000;93:1138-43.
20. Amr YM, Yousef AA, Alzeftawy AE, Messbah WI, Saber AM. Effect of preincisional epidural fentanyl and bupivacaine on postthoracotomy pain and pulmonary function. *Ann Thorac Surg*. 2010;89:381-5.
21. Ertürk E, Kaya FA, Kutaniş D, Besir A, Akdoğan A, Geze S, et al. The effectiveness of preemptive thoracic epidural analgesia in thoracic surgery. *Biomed Res Int*. 2014;2014:673682.
22. Neustein SM, Kreitzer JM, Krellenstein D, Reich DL, Rapaport E, Cohen E. Preemptive epidural analgesia for thoracic surgery. *Mt Sinai J Med*. 2002;69:101-4.
23. Bozkurt H, Arac D, Cigdem B. Effect of preoperative uric acid level and neutrophil/lymphocyte ratio on preoperative and postoperative visual analogue pain scores in patients with lumbar disc herniation: A cross-sectional study. *Turk Neurosurg*. 2019;29:705-9.